

The Minico High School Baseball/Softball Coaching Staffs and community members would like to get board approval to pursue the establishment of an Indoor Hitting Facility at Minico High School.

The purpose of this building is to have a space for the baseball and softball teams to work out during winter, and early spring when the weather doesn't coorporate. The inside of our building will be equipped with batting cages, bullpen areas, and extra room for defensive drills. We are pursuing a building that is 60'x112'. We feel that we are at a disadvantage to other teams in our conference because they have facilities like this at their schools. We received a foot of snow at the end of March causing both the baseball and softball teams to miss 4 days of practice, before playing conference games on that Friday and Saturday. With an indoor hitting facility we could get out of the bad weather, and still get good work in to prepare for our games.

We can build this building in 4 phases. Phase 1 being the road base gravel and site prep. Phase 2 would be the construction of the building shell. Phase 3 is the installation of electricity and gas for heat. Phase 4 is the interior walls, turf and cages.

We have discussed and reviewed 3 different bids that we have received for this job. Each bid has its own positives and negatives.

Option 1 – Cleary Building (Pole Barn Style) – 60'x112' -- \$69,999 Option 2 – Olympia Steel Frame Building – 68'x100' -- \$48,621 Option 3 – Block Building – 68'x100' -- \$132,600

Several locations have been discussed for the building, but narrowed to what should be our final location. This location is right behind the center field fence of the varsity baseball field. This location can be referred to on the map on the last page.

We have also discussed many different options for fundraising for the indoor hitting facility. A few of these options include: a dinner, a raffle, and a call-a-thon. We have started receiving commitment for funds, and as soon as we have final approval checks will be received. We are also open to other ideas and suggestions to raise the money needed. We are looking for and would greatly appreciate any and all support from the School Board and the School District.

We are here today seeking approval from the board to move forward with this project. We have discussed all three bids, and feel the Cleary Building is the best building for us. Cleary Building can begin building in January, and have the building up in a couple weeks. We would like you're approval to move forward with the road base gravel and the Cleary building.

Thank you for your time Jared Price Minico Baseball

MINICO HIGH SCHOOL HITTING & PITCHING FACILITY



Minico High School Baseball and Softball is beginning fundraising for the new hitting facility to be constructed at the Home of the Spartans! We all know the challenges that spring weather brings to southern Idaho and currently Minico High School is the only school in district 4 without an indoor hitting facility. We need an indoor facility to develop our players, to prepare during the winter months and for practice during inclement weather in the spring. We ask for your support in fundraising the money necessary to complete this important facility. The building will include a bullpen area for baseball and softball pitching along with batting cages and space for hitting stations.

THIS FACILITY WILL BENEFIT BOTH MINICO BASEBALL AND SOFTBALL PROGRAMS

As a sponsor, you become a valuable part in the success of Minico Baseball and Softball. In turn we will help to promote and brand your business in the community. The current estimate of constructing this facility is \$100,000. All donations will go toward the Minico High School Hitting Facility and are considered a 501c3 contribution and are tax deductible. Questions regarding this fundraiser can be directed to Jared Price at (208) 431-6818 or via e-mail at pricejared@live.com. We need your help! Below is a rendition of how the facility will look!!



THANK YOU! JARED PRICE • (208) 431-6818 • pricejared@live.com

MINICO HIGH SCHOOL SPARTANS TRADITION • EXCELLENCE

			Hitting	Facili	ty Bud	get			
Buildi	ng Style								
	Cleary	60' x 112'	6,720 sq ft	\$69,999			87 B		59,999.00
			-No electica	l or gas	-Construct	ed by Cleary	/ in a few wee	eks	
	Block	68' x 100'	6,800 sq ft	\$132,000				ļ	
			-Everything		sh by Todd	Miles			
0	lympia Steel	68' x 100'						ļ	
			-Needs to b	e set up - l	lo electrica	l or gas		ļ	
Concr	ete	(optional -T	win Falls bas	seball has a	road base	gravel floor)		
	Kloepfer	85-90		¢05				ļ	\$8,075
			-5 yds dona	ted - Need	a contracto	or to pour a	nd finish	ļ	
	Base gravel	180-2	uu yas		<u></u> φουυ			.	
			-We will nee					ļ	
			-Rick Stimp	son has off	ered base g	ravel and d	elivery	ļ	
Electr	ricity	(estimated price, checking on donated material)						\$	2,500.00
	Greer Copela	and is talkin	g with electi	rical compa	nies about	donating ele	ectrical mate		
				rials				ļ	
	United Electric will donate their labor to get the power to the building							Į	
•••••								<u>[</u>	
Gas		(octimated	price, check	ing on don	ated materi	al)		\$	2,500.00
003		••••••	••••••					T	
	Talked to Intermountain Gas. They come and run the gas line to the building with a								
	meter(should be free). Then we get an electric/heating company (Dalry's, Ramsey'								
	s, Larry's) for a shop heater and to run the lines from the meter to the heater.							Ļ	
			ļ					. .	
Inside Materials			(All optiona)				Ļ	
		14'x70'	BFD3670	\$364 x 2				\$	728.00
	Ĕ	14'x100'	BFD36100	\$500 x 2			L	\$	1,000.00
	Cages	12'x14'x70	· · · · · · · · · · · · · · · · · · ·	\$729.99	-I have on	e new cage	waiting	\$	730.00
		Cable Inst	allation Kit	BCIOD	\$105	-2 needed	for cages	\$	210.00

Turf	usedartificalturf.com	-\$1 per sq ft	-\$1 per sq ft	
Hitting mats	\$349.99 x 2	-Kodiak sports		\$ 700.00
Theory Process				
nside Walls				¢ 645.00
2x6x8'	86	\$ 7.50		¢ 1 1 1 8 00
OSB Sheeting	86	\$ 13.00		\$ 1,110.00
Hangers	172	\$ 1.00		\$ 172.00
-Prices are f	ound on the internet. Frank ome of this material and the	lin Building Supply in bur en charge employee prici	ley has offered to ng on the rest.	
Gottere				
		F	stimated Total	\$ 94,722.00